
Συνθετικό σχήµα. 

Να βρεθούν οι ενώσεις στο παρακάτω σχήµα. 

 
 

Με βάση το σχήµα η ένωση Η είναι: 

CH2=CΗ-CΝ + Η2Ο → CH2=CΗCΟΟΗ, οπότε 

Α: CH3-CΗ=Ο + ΗCΝ → CH3CΗ(ΟΗ)CΝ (Ζ) 
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CH3CH=O + H2 → CH3CH2OH (Γ) 

CH3CH2ΟΗ + SOCl2 → CH3CH2Cl (E)  + SO2 + HCl 

Αλλά CH2=CΗCΟΟΗ + Νa2CO3 → CH2=CH-COONa (Θ)+ CO2 + H2O 

CH2=CH-COONa + CH3CH2Cl → CH2=CHCOOCH2CH3 (I) + NaCl 
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CHXCH + CuCl + NH3 → Cu-CXC-Cu  (M) + 2NH4Cl  

CHXCH + H2 → CH2=CH2 (∆) 

CH2=CH2 + Η2Ο → CH3CH2ΟΗ (Γ) 

(Ε) CH3CH2Cl + Mg → CH3CH2MgCl (Λ) 
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